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For we have established that — 90932 219K 9292 712957 72 NPT
The 1715%:7 follows the opinion of X' regarding .

OVERVIEW

The X7n3 states that 1v°32 X"12 170%7, that we do not require 72 0 7¥; a 03
may be enacted with 777°0n *7¥ alone. m»doIN will be discussing two issues:

A) Whether the 1377 is according to X" by w3 only, or by mIuw XY as
well.

B) What is meant that X"32 179972 Does it mean that 717°0n >7¥ alone are also
sufficient without 77°nm *7v (but 71°nn 7Y alone are also sufficient), or does
it mean that only °n7> 77°07% *7v, however 72°nn >7v alone are not *n72.!

= MHIVY INVA 4N 1N NAYN HAN PV VP PVIA NN NT DIYN
Since we are discussing here the laws of 7w, therefore the X723 mentions
that the 712777 is according to X"1 in w3, However, in truth the 7297 is

according to X"1 even by other m=uw. Not only by w3, but in all mavw the 7397
is that °n12 77°0n >7v [and not °n13 An°nn 7Y, Therefore in all M VY transactions it would
(seemingly?) be required that 77°0n *7y be present at the time of the delivery of the “vw to
the VW recipient; i.e. buyer of a field, etc].

moon will now question his own ruling and subsequently uphold it:
= PV RPIT ITYHOHN 295 9920 (3,0 91 JIPTT INIININ 997 2) Y 9N

Even though that all of the 25891%K later in w777 279 uphold the ruling of

R''9 that *n75 77°01 *7v, only by 7983 and not by other mvw.* How then can msoin
claim, that the 7097 is like X" even Mvw Xw2?

! [These two issues are related (see this Moo later: "1 72°97"). If we were to maintain that the 7327 is
that >n12 77°0n *7v only by 1", but by n1MwVW IRW the 77077 is °n3 A°nn > (issue ‘A’); this would require
some explanation. Why is there a difference between v and mnvw Txw? Why by P is the 1377 that v
N5 7von and by Mww ARW the 7577 is that *n13 700 2792 One possible explanation would be that by Rw
MY since the P09 (in Tm,27 7»7) states 'Dnm (D02 NDY)', we require aRNR 7Y (see later X,19).
Concerning 7v°x however since the 105 says only '2n31' and does not mention 7n°nn, therefore 77°0n *7¥ are
sufficient (but not required). It would follow then, that fi7°nr1 >7v, which are required nvw IRw2 (and where
77°on 7y are not sufficient); they would certainly be 2w2 by 1v*). We would therefore conclude that when
we say uaa X"12 7991, that would mean that by 703 we may also follow the ruling of R"9 that 77°0n *1v
*n12. However nnnn »7v are certainly w3 (issue ‘B”). If, however, we say X"13 77397 by all now (issue
‘A’), then we can maintain that only 717°0n *7v can effectuate a transaction and not 72°n1 >y (issue ‘B).]
2 See, however, later in this npoIn.
3 Concerning those 2°X7 MR we cannot qualify their statement as Mo0n qualifies the statement in our X373,
They state specifically that the 73917 is X"13 only by v and not N LY RWA.
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mooin replies:

= TIHVY INVA OGN TIND) 29N (ow) AP 1997 9272 HNMWYA 1Y NP
We follow the ruling of »X»w in monetary laws, who argues later in the
X3 of w1 against 29, and >Xnw says that the 11577 is like X1 even by
other n W, that >n7> 7°0n 7.

mooIn will bring additional proof that the 713%7 is M YW IXwW1 AR K"
= 50%) Y91 NPDY 1NN NNT RNINN 23 (3,05 97 pa1739) 9992 AT P92 NI

And furthermore in 9732 717 P99, concerning a deed of a gift that two

brothers-in-law signed on this qvw as the witnesses. This renders the 2109 vwn 7y
since they are relatives to each other, therefore -

= TYHN 2395 N0 YT1YA NINIPN DT O 229 9N
noY %29 said: ‘go enact the delivery of the gift with a%%n s7v, in

accordance with the ruling of R'=, that >n15 7on >7v. Even though the mnm >7v
are 7109, nevertheless there will be valid 77°0n 7 to effectuate the transfer of this gift.

= D109 NNV 191NN 2193 9TYIN 229 NI NAN 2349 9NN AN ND 79999
To which 2R responded that the solution of *"3 will not be helpful, for

R''" stated that X''9 agrees that a "W that is 1932 7% it is 9195, In this
case since the two brothers-in-law who signed are 0°217p and M17v2 0°7109, therefore even
if there are 77°0n *7v, however the 7w is 109,* because 771°0n *7¥ can only enact a
transaction in conjunction with a w3 7vw.> Here however there is a 2109 70w on account
of the 0°217p. The 77°0n »7v will not be able to enact the transaction. This concludes the
discussion of that 83, We may derive from that X7n3, were it not for the 2109 of 71
1017 (had there been no 2’7y on the "ww), the 77°0n 7w would be able to enact the
transaction of the 71nn even without 72°nm >7v. That proves that *n73 77°0n *7¥ even by
mAvY KXW, as N1BOIN presently concludes:

= 9TYHN 9295 9920 HNINA NNT MAN) GO 297 YIYN
It is evident that >''9 and 72X, who were from the later 2°X"1R, are of the

same opinion as X''9 that *n73 77°01 >V even MIVY RYA.

mooIn brings an additional proof that NvVY IRW2 °n75 77707 7V:
= INDAD NIV NN NAN %29 9N 33 ,7)7992)

And later in our P99, X''1 said: this Persian auw that was written and signed in
Persian -

4 See previous 7T 1"7 '0In for the reason that 191 717 is 9105 according to X",
3 ypp is acquired through 0w n°on, not through o>7v alone.
¢ The rule generally is that °Xn23 719%7; the law is practiced according to the opinion of the later Rabbis.
TR, A7
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= 91 93350 11399 19233 HNIY? 11D 2aNA NYYDNY
That was delivered from the MY to the m>» in the presence of Jewish
witnesses who understood Persian; we may collect from the

unencumbered (unsold) properties of the m%.2 We see that this 70w which had no
o w> a°nn 7Y, for it was signed by Persian 0713, nevertheless it is considered a 0w (at
least to the extent to be > *12» 17213),° on account of the 771°om 7. The conclusion of
mooIN is that the 7597 follows the opinion of X" that °n73 77207 ¥ even MALW WNW2.

NvOIN continues:
= 95199 YNINRT VIN NN NYYA NIYDN 1Y INY TP 7998 15290

And therefore; since the 719771 is according to X" that >n73 77°0n >y [even'”
Nvw IXYw31] care must be taken that there be 79°0% 57y at the time when
the w3 is delivered to the woman for they effectuate the divorce -

= 10NN 1Y NIONT 2) HY R NYINMI NN NIP0N 7Y DV NI INY
For if there will not be 79%% 57w at the a7 NN, she will not be divorced
even though there are 77501 >7Y that signed on the v3, nevertheless it is only 7y
N7 1717°07, not n°nn >7v. The n°nn >7v cannot effectuate the divorce.

The question may arise, if only *n73 717°07 *7¥ and not 72°n1 >7v; why have ma°nn *7y at all.
mooIN responds:

= DN NP1IY 0N 1Y IN NP0 TP 1NN ONY NON N12INN 2TY 23NN XY
And 72°n17 57Y are of no avail unless the 579502 >7¥ die or the 77701 7y will

travel overseas; the 771°0n 7y will not be available to testify that this woman is
divorced. In these cases —

= NN MY P DY RYINHY
She may remarry on the basis of signatures of the 72 nn ST¥. She may use
the written and signed 3 as a proof that she is divorced.

moon will now explain how does the v3 prove that she was divorced properly with 7y

77°0n in attendance:
= YY) 9VINA NINDNT

8 We cannot be >7avwnn a1, as the X3 says there, because there is no 7. The reason there is no 77 in
this qvw is a disputed matter. Some say because only 71°ni7 *7¥ can create a 1p. Others maintain that since it
was written in Persian there is no 2. See previous 721 71"7 2,3 77 '01n (footnote # 15). Even though nwoin
there says that there were 0"12¥ 79 on the 70w and they are considered like N3 (so seemingly there is no
proof that °n73 n"V), nevertheless since Xi1pon? this X0 VW cannot collect >7avwnn, this proves that the
a"™oy »7v are meaningless and the T collects 1"121 only because of the »"v. (See TR R"wN).
 The M> cannot claim >ny75. See TR R"w . See ‘Thinking it over’ # 1.
10 See footnote # 1 for an explanation of 797",
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For it was presumably done properly with 77°0n >7v. There is a proper v before
us, and 7Y signed it. It is clear that the husband intended to divorce his wife. Therefore
we may assume that the people involved in this v, preformed it properly. If there would
be no nn°nn 7¥ however on the V3, we cannot assume that it was done properly with 7y
77°on. We do not even know that the husband requested that this vi be written. It may be
a fabricated 3.

moon will now prove that we may rely on the 71°ni 7y, [only] to ascertain that the v
was delivered properly [but not that they can effectuate the vi]:
= (8,9 97 1P NIIYN 1999NTD

As the X %3 says later in m9W7 P79, concerning the mwn which states: 2279 PX'

'@ 1PN 2197 ROX VAT YV 2nnn, that this qawn —
= 95195 N0 7Y MMINT HITYHN 1299 NN 1998 XD

was written only in accordance with the view of R''9, who maintains that
D92 719°0n 97V, Therefore 72 nn >7v are not necessary. Nevertheless —

= 0 NIMIY DINT 933 IN YTND 21199107 1231517 NNINN 1Y 1929 99PN
The 3127 instituted that 772501 >7v should sign on the v for oftentimes the

77°0n 7Y may die or they may travel overseas; the 7von >7v will not be
available to verify the status of the vi. The fact that there are 7»nm 7V on the ©) is
sufficient verification that the v was executed properly with 7on *7v.12

mooIn will offer [another] proof that according to X" (whose ruling we follow), nn°nn 7y

cannot effectuate a va.
= PV NV INYYY DY 223 (3,90 97 mp%) NN P93 ¥NHIYN 199

And this is also implied in the last 92 concerning the case of two people

who sent two 3°¥%3 to their respective wives -
- 1Y 1PNWY 1Y DNIY 1) [1IYNN] 1IY 1P MNRY)

And the respective names of the couples were identical, and the v
became mixed up. We cannot identify which vi each husband sent. The 77

is; we are to give both "0’ to this wife and both 70 again to the other

wife. In this manner we can be assured that each woman received the proper 03 from her
husband.

— NYII 11993910 N2 19901 1Y S¥T> NDT DIVN TTYIN 295 NIT NI)A MNP

' According to n"3 since >N 72NN Ty the 27V NN is XNPIRTA.
12 If the 17297 would be that 7m°nm >7v alone can effectuate the 3, the X m3 could have said that the reason
the 51 were 11 00 7Y 1pNn is for those cases where we are concerned that at the time of delivery, there
will not be o w> 77°0m 7y, Therefore we have the mn°nn >7v sign to effectuate the va. Since the X3 does
not give this reason, that is proof that the f%°nr >7¥ can in fact not effectuate the v (according to X"9). They
can merely be relied on, that the v was executed properly with 77°0n *7v. See w"X27 MooIN.
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And the X973 there says'’ that this solution cannot follow the opinion of
X', because the 79%0» >7v (that will be present when both v will be
delivered to both women) will not know with which of these two 10 she

is being divorced. They cannot testify with certainty at which point the divorce took
place. There is something lacking in the definiteness of their testimony. '*

- N’ 9ONN 249 DaN
However according to 2''9, it is a proper solution. The 72°nn >7v, when they
signed on the v, knew which husband is giving the vx (to which wife). The vx when it
was signed is a proper V3. Therefore when the v) is actually given, the fn°nn >7v effectuate
the divorce. They do not have to be aware when the moment of the divorce is taking
place. In every 3 with 71°nr >7v, according to "9, the 07y merely sign and are not aware
when the actual delivery of the vx will take place.

Before moown continues to conclude his proof from this X3, he interjects a comment

concerning what the X713 says that according to "7 it is X2:1°
- 599N PYRIYNIT MY T8

It is necessary to qualify the previous X7 which states that according to
n"7 we are to give both 70’3 to both wives; that we are discussing "0’ that

had a third generation written in it to identify the parties. Both parties had the same
names and parents names; however they had different grandparents (third generation)
names. The 70’3 actually contained the grandparents’ names; the 77°0% *7¥ (and 7"2)
could not however identify the couples based on the grandparents’ names. n2o1n will
now explain why it is necessary to say that *1»X pPwowna.
- 1901 NN NNPY PN 2297 'yat
For »"1 requires that it be evident from the v3, who is divorcing whom.!® If
the V3 was not w91wn, we cannot distinguish by reading the 03 alone, who the husband and
wife are, since there is another couple with identical names. Such a ©3 is not 12101 1M
and is 709. Once the v is WWn we are able to ascertain the correct couple that is being
divorced with this v3.!”
= YYD DN WD AN 23D (3,75 97 1mp%) VIN J5 Y92 199N T

As the X 1) says later in the beginning of v37 %> P75 concerning the case

13 This is merely the 81X 717 of that Xm3. See following footnote #14.
14 The X»3 maintained in the X" that X"3 requires 72w 701 as well as 7nwY 72°n3. Therefore since the
o°7v do not know with which v3 she is being nw3 there is no 7»w> 711, The conclusion of the X3 is
that even X" does not require maw? N1 and it will be a valid solution according to 8" as well.
15 See however "% NMooIN where it seems that 'PwWWw»' is an integral part of the XA
16 See 11211 "7 (X,3) 2,2 NDOIN.
17 Even though we cannot ascertain it now, nevertheless it is 73, because in principle we will be able to
ascertain, who is being divorced with this v3.
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where he wrote the v3 with the intention of divorcing the older wife, he may
not use it to divorce the younger wife, etc. From that X723 it is evident that »"9 requires
12307 111, This concludes this tangential comment.

mooIN now returns to his proof from the previously quoted X723 of the two similar 7w,
that according to X"9 only >n12 717°0n *7¥ and not 7»°Nn >7v.
= HTYON 2290 NONN NI ONIN NN Y12 70 TYON 22495 ON)

And if we will maintain that according to X'"9 even 7%°nm 7Y are
sufficient to effectuate a v3, why cannot this 17, that we give both 13 to

both wives, follow the opinion of X9 -
= 90 NNNN 2TYA NONM NIP0N STy bT

Remove the 79%0n 7y from here; they are useless in the sense that they
cannot testify who is divorcing whom. But nevertheless the 7%°nn >7v are
sufficient to effectuate the v -

= 11901 1Y 9TYIHN 229 S¥a OYIYHT YNYN NIN
However since the X713 refuses to say (in the X"17) that the 17 can follow the
opinion of X"9, but rather maintains that it follows only the opinion of n", it
is implied that R''9 always requires $77°% 37¥ even if there are ma°nn >7y, for it

is only >n7> 77°0n *7¥; but 7°nn 7Y are not *n72. Their use is only as a proof, but not as
enacting the process.

Until now mo01n has asserted that according to X", the 77°0n »7v are required to be at the
vaT N7°0n even though there are 7»°nn >7¥ on the vi. MdoIN will now add a new point to
this discussion.

= VXN NN NYYI D¥TY SP2 VNI 399 1P29NT 991D 05 13%29 D9)9T T
And furthermore, the n''7 was accustomed to say that even according to
the opinion of %'"% who maintains that *n73 72°nn 7Y, nevertheless witnesses

are required at the time of the delivery of the v to the woman. Even though
there are >N 7Y on the vA. The reason for this is:

= ©)YN MND MIYaY 929 PNT
for we cannot enact any marital issue with less than two witnesses. The v
mnonn effectuate the 03, so that we have the proper tool with which to proceed to the act of
divorce. The enactment of the divorce process itself, however, requires two 2>7v that it be
effective. '8

moon has concluded discussing the requirement of 77°0n 7y by 7"v°2 and will now

18 See ‘Thinking it over’ # 2.
6
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discuss the role of 77701 *7¥ by mvw WRw.
= FIONID IR YPIP PIPY RINY 9910 YOV IN ¥PIP NINN 0V 199

And similarly, a deed, gifting land or a deed of sale whose purpose is the

acquisition of the land and it is not merely for proof of ownership;'® the
transference of the property was to be effected by the delivery of the "vw from the
original owner to the new owner. In such instances -

= D7 2392 19N XYY 7 ON 2°9T9ON %349 0195 Drym PN
Nothing will be accomplished according to X'"9 if it is known that the
"uw was not delivered to the recipient (the receiver of the gift or the buyer)
in the presence of witnesses. The transaction has not taken place if there are no 7y
7on present. Neither the recipient of the gift nor the purchaser may claim title to the
land. It has not been transferred to them. It is still in the possession of the original owner.
He may rescind his previous decision to gift or sell this land. This is because &"3> 13%7
MY XwA that only *n7> 77701 *7v. There can be no enactment of any sort (that requires
witnesses), unless 77°0n 7Y are present.

moon will now reconsider this previous statement concerning 771071 157 "MVW:

= 299D Y 1M
However, it is possible that we may differentiate between v and mvw 8w,
that even though by 10’3 we must have 77°0n »7v; and 72 nn >7Y are not sufficient, (and

even though the 73977 is X120 even MMLW IXW1), nevertheless there is a difference —
= 22059y NNHDD )T JYa NN NOINNDT 100 PV

for concerning monetary issues such as gifting and selling where the
admission of a litigant is as acceptable as the testimony of a hundred
witnesses; therefore —

— 127 Yya ANTN DIPNA NNINN TYa D
It may be sufficient with just the 772501 97p to effect the transaction without
77°0n 7y, for we will consider the 7m°nm 7Y to be in place of an admission

from the litigant.?? It will be considered as if the original owner admits before the
7">2 that he gifted or sold this land to the recipient.>* Had he done that, 7"2 would accept

19°A 7om 7vw may have two functions. It may prove that that the property belongs to the holder to the Tow.

In addition a 75n "W is the means by which the ownership of the property is transferred from the seller to

the buyer. It is a P1p 0w as well as a 7Kk 0w,

20 See “Thinking it over’ # 3.

2! There is a dispute among the 211778, according to the 'pon? w*, if >n13 77°0» >V by 1an uw.

221f the 1011 admits that he transferred the property properly with a 70w (and n"¥), it would be valid.

23 See n"m. See [however] also (X7 'ay) Aam>w 728 (whether 7"ya 03p»2 means when there is a 7"va nx7TIA).

24 It is very questionable when the 17 9¥2 is 77w that he gifted or sold the land with a Jvw without "y or

n"y that it will be a valid 1"1p. However if there were 1"V on the 20w, we may consider the qvw valid (even if
7
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his admission, and place the land under the ownership of the recipient. The same process
applies when there is a 71071 727 “vw with 72°01 *7Y, that it is considered as if he admitted
to the transfer of ownership.
= 197 Dya INTIN RNN NXY PYIIN PYITPA VAN
However, concerning matters of 1Pw7>? and P2 the admission of
(any of) the parties is not acceptable; where the man and the woman both
proclaim in front of 7"2 that they married or that they divorced (in the presence of
witnesses), but no one can corroborate it, their testimony would not be accepted. They
would remain in the same marital status as they were before this proclamation. The
reason that their admission is not acceptable is —
= DYAIPN NY YON PYITPAT DIINRY 21HNT DIVN
For their admission imposes a liability on others. It limits the freedom of
others; for if they admit that they married, through this he prohibits her
from having relationships with any of his relatives.”> She was previously
permitted to marry anyone she chose (from his family). Now they cannot marry her. A
person’s admission is acceptable only if he is ‘harming’ himself; not if he is ‘harming’
others. In this case he is restricting his relatives from marrying her.
$JNON NY YON PV
And concerning an admission of divorce, he is prohibiting her from

marrying a }13. Were he to die, a 172 would be permitted to marry her. Now by
asserting that they are divorced, a 772 would be prohibited from marrying her. Therefore
since by P17 and PR there is no rule of P7 %¥a X7, therefore nn nm > cannot
enact the Y171 w1773 without 77°0n *7v. However by 1mn muw where there is the 1°7 of
"7 07V RRD TT 92 DRI, the 72°n0 7Y may be accepted as a substitute for 77 v nx7I.26

SUMMARY

The 12%7 is like X" that *n73 77°0n 79 both by w3 and by mvw Rw, since
2X1MY maintains that MALW IRW1 AR R"1D 7597, and based on the story of the
71nn Y on which two brothers-in-law signed. m»oIn concludes that by all

we maintain that >n73 n"¥), on account of 17 %v2 nkA. The 0 >7¥ provide us with proof that there was a
transfer of a qvw (as if the J11 admitted it). Without 2°7v however the 17 %¥a N7 (of transferring a ww
without n"¥1 1"¥) cannot create a W 1P, because the "ww itself contains no proof that it was actually
transferred or that it is indeed a qvw. See 15 MR 717 NW. See also >"21 »"m1 (and footnote # 26).
25 See “Thinking it over’ # 4.
26 By p" since we must know objectively that there were "y (the admission of the parties that there were
n"v is insufficient), therefore 2" can be enacted only with n"v; however by 17n since the property can be
transferred by 7"v2 N7 alone (if he admits that he gave a 7uw with »"¥), this indicates that the "y do not
(solely) enact the transaction (for in this case we do not know objectively that there were n'"v), therefore 'y
(who assure us that there was a transfer of a q0W) can enact the transaction (as if it were 7"v2 n&77). See
also n"nx # 131-135.
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70’ there must be 77°07 "7V present even though there are fn°nmi 7Y on the
V3. MOIN based this (on the X3 of 121 2>7v7 X and) on the X of the two
72 that were mixed up. And even according to n"9 we require 77°0n *7v by
the delivery of the v3, since 2°1wn MMD MY 727 PX.

Concerning 1Ip "W XY, there is an uncertainty in mMo0In whether they
require 77°07 *7Y, or perhaps since by mnnn we have the rule that 5¥2 nX™:
M7 7Y ARND 17, therefore the 77°nn »7v may be sufficient. However by
PN PR where the rule of 17 H¥a N7 does not apply, we require 7y
17700,

THINKING IT OVER

1. Mmoo proves?’ from the 7 of *X07D "MVW that MALVY IRW2 N7 77070 7V,
n"7 would seemingly also agree that if 7°0n *7v say that the m> owes the
MY money, the M? would have to pay ("1 °12n). How is this a X that
NNLY IRW32 K" 7397728

2. The n"1 maintains® that even according to n"1 we require 77°0n >7v at the
v NN, How are we to understand that the 71wn of 127vniw v *1w follows
the opinion of »"7 and not of X", if according to »"7 we also require 7V
mvon?30

3. According to the 7v*w that 11p 0w require 77707 *7v,°! would the n"A also
maintain that even according to n"7 we will require 77°0n >7v, since by 17Mn
also (as well as by a m7yaw 127) we can be 777 XX only 07y 1w 5"y?3?

4. Moo says®® that by PwITR he is 2IX? 21 because D°1PR 77 TOK.
Seemingly m190n could have simply said Xn5y *919K8 777 7087234

27 See footnote # 9.
28 See n"m.
2 See footnote # 18.
30 See n"m.
31 See footnote # 20.
32 See n"m.
33 See footnote # 25.
3 See w"w.
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